U 0000 Ooon

MC-1B

EARTHOOOOOOOOOLINEOODOOO
oobOooooooooooooooboooo
OEARTHMI OOOOOOOO I LINE
gbooboobooooooobooboooono
goboooooobooboboooooooo
ooooooooobood

Joooooboooooogd
oo ooud

LA X F¥
LE Y #
-‘- ooooood

/o LINEOOODOOOOOobOoooobooo
ooooo -

gogoboobooooooboooooooo
goobobooooooboooooboo
gooooo

oooooood

oboboooboooOooboOooooooo
oboooooOooOoobOooooooo
oooooobooooooooooobooo

oo
»0000000000000000000000 NIC-1B0 MOD O oooooo
= 000000000
00000000000000000000000 50MQO0 0  |50MQO 0
OoOo00oOoooooooboooooooboooooo 5MQO O 5MQO 00 50MQ0 O
= 00000000
00000000000000000000000 25MQ0 0 | 25MO0 0 sMad O
00000000000 00000000000 iMQO O |[1MQOO25MQ0 0
s 0000000mMeN00nDn
0.1/0.2/1/2.5/5/50M@ O 200 00 00 O 02MQuO  |02mMO0 0 1MO0 0
000000 0.1MQO O 0.1MQO O 0.2MQ0 O
00000000000000000000000 0000 0AMAD O

000000000 000000000000000

Oo0000oooooaisoooooooog
0ooooooooo ooooo
DDDDDDDDDD pobo0o0pooO0OoOoO0OoOOOOoODbOOoOO0OODmOobDD 0.1MQ
oooooooooooo ?’E(I)ODV 000000000000000000000000150v00000 :
000300100580 nooooo 0.2MQ
30vOoOooooo 0.4MQ
0do0odooooooooooooooo
gdodooooooooooooood
oooooog-JIs C4203 0o0oo00o0iMQOO0o00000 1MQO 0 (500vO 0) e MC-1B
gooooooood
goooooooooooo oooo 500V(+10%
Soooooooe 0ooooooo 5O 0 (500V1 ) (+10%)
oooooooooooog ooo +20,
goooog-Jis C8326 000000000 mooon 5MQ0 0(500v0 0) IZID[ID_OA
0ooooo-Jis C8370 0000000000000 sanoovoo) | | (o o ooo g 0—40C
goooo-Jis Cc8371 Jgdooooooooooo s5MQ0 0 (500v0 0) 0000 R6P(0 3)x40 (6V)
JOoooDooooD-diIs C8480 |DOO0O0OO0OD0DODOOOOOOOO s5MQ0 0 (500v0 0) 0000000 1000 /00010 0
O000o00ooon 00000x00x0000 122X75X38mm
000MO00000000000000M | o0 oeovn o) e 000010
JIS C930001 [EC/FDIS 60974-1 | DODMOOOOOOOOODOOO0O0 0oo e 00010
000000000000000000 25M00 0 (s00v0 0) el 10
0oooooooono
JIS 93230 1SO/FDIS 5826 50MQ0 0 (500v0 O) ooooao 0O MC1B5
00o00o0oO00O0oooon
000000MO0OoDmooooooog
gooooooooooo
mooo 00000000000000000000 | MOOO(sovO0)
oooo ooomoao 12,900

oob0oO0oo000O0o000b0000000 000000000000 o000000 000000e0000O0 O000P.C-60 748

000Mmoomo0moomoDooo



